X 1 p N N R =

1 FHEERIRBEFETCAMRTOHERS
(B4 Eigha, EETH)

N o T = Ed P =

XA R A e TR E (kB |EE|TE AR AT
19 & &
laa ] 605 1 604 540 31 18 15 - -
1] i} 75 0 75 68 2 1 4 — —
XIVRIRE 67,003 71 66932 63350 1,153 478 1,951 — -
20 & &
laa 4 402 5 397 250 81 4 62 - —
1] i} 51 1 50 37 4 1 8 — —
XIREE 43,228 842 42386 34871 2827 968 3,720 - -
21 & &
laa 4 226 1 225 4 11 103 107 - —
1] i} 21 0 21 0 0 6 15 — —
XiREE 15,646 39 15,607 403 90 8249 6,865 - -
22 £ &
laa 4 483 1 482 0 101 267 114 - -
1] ¥ 51 5 46 0 4 25 17 — —
XiRIEE 60,549 926 59,623 0 5071 44866 9,686 - —
23 & E
% # 124 1 123 — 7 104 12 — —
1] i 25 0 25 — 7 15 3 — —
XiILRES 55,465 338 55127 — 40,461 13,300 1,366 — —
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2 HFMXKFEERROHE

(BAL: mfEha, £58FH)

4 | @ % ‘ A B K BHAK SIS
FEK| FIES | AOK | KAN | 20| %EF | Z0fth| & B
194
H % 36 15 - - 7 2 - - 12
m 10 1 - - 1 1 - - 8
WEKE| 11592 2281 - - 502 0o - - 8,809
204
% 19 10 - - 1 - 5
m 2 1 - - 0 - 1
WELE| 1574 780 - - 709 - 85
214
% 20 7 - - 2 2 - - 9
m 5 0 - - 0 1 - - 4
L] 1,759 599 - - 52 4 - - 1,067
224
% 20 1 - 3 3 - - 5
m 7 0 - - 0 0 - - 7
WEE| 7999 77 - - 137 88 - - 7,697
234
" % 39 11 3 1 5 3 - - 16
[ 6 2 0 0 0 0o - - 4
WELE| 5210 405 226 306 509 291 - - 3,383

F) HFHEEFBREFHRICED,

3 ELHMRREFTOHRFTNTOHD

(B{iL ha, #A<LVEmM3)

HEDO|RR4A EAVAVEVINPEYH

R MHE®R|F 7R R ALn| % = | £
19 0 0 0 0 28729 0 0 0
20 0 0 0 0 25282 0 0 0
21 0 0 0 0 22854 0 0 0
22 0 0 0 0 22,168 0 0 0
23 0 0 0 0 20,837 0 0 0
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3 FUHFMHARRFOWFTKRDOHER (DTF)

(B ha)
I/ hA
S R . BRI |Fovx| /00 | v h ¥ L| v <
19 0 0 0 6 2 13 0 0
20 0 0 0 3 1 27 0 0
21 0 0 0 0 0 27 0 0
22 0 0 0 1 0 30 0 0
23 0 0 0 6 1 24 0 0
F) HFMET|MEFRICLD,
4 FEMRBREORERVHBRKRE (B, MBNREEDOH)
RBRERES Xt R 1511 - HERT BABRAK 5
R REs
KO (FRE LK) K4 it 20, 837m3 3, 193ha
no (HEREH) — — - -
no (RERK) - - — —
ZNE 311 i) K4 i 39, 856ha 5ha
no o (FELEAR) - - — _
<Y h L N — — _ _
F x* X = — — — —
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5. HETAIAKWVBEHE R UMK R (BN REEDH)
(B4 : EF& ha, MFEM®)

w®m = il 73
mHr F B omE B
HEXIGmE % E M & BE B #1 &
ZhEH | kA

ha m?® ha ha m?®
#a | 39,856 20837 ( 0) 0 5 3,193
EERMREB 4,783 822 — — —
sEB™ 4,735 813 — — —
K HT 48 9 — — —
PHEREBRT 496 157 — — _
ol ## 320 129 — — _
B K SHET 63 13 — — _
L+ B8 HT 52 9 — — —
FR #1 hte ET 30 3 — — —
4 HT 31 3 — — —
AEEMEHRT 3,011 841 — — 33
T#h 446 118 — — —
X 487 75 — — 30
BArmh 2,078 648 — — 3
LA EHEHRT 15,413 6,391 — — 1,300
TR 13,256 5,714 — — 1,300
B K 2,157 677 — — _
EMEMREH 1,445 751 — — _
FE T 679 186 — — —
e ] 264 90 — — —
Wwpz/NEF AR 502 475 — — —
TERHEHER 813 693 — — _
TE™T 813 693 — — —
B EMEBEHRT 2,852 2,392 — 1 1,000
KMH 2,852 2,392 — 1 1,000
MERMEHER 11,043 8,790 — 4 860
oo 8,395 7,221 — 4 860
Fal 2 HT 2,648 1,569 — — —

E)ZEREAEO () ESE, ARy (RETE) TRE.
BRERAA 1R = £ (B BRRR + 5 Il £ B BR R + R A 4%
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